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Instructions:

o There are 3 (THREE) questions of equal value.

o Start each questlon On a new page.
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'QUESTION 3:

- a) Forthe function f(x)=2sin™3x:

ii.  State the domain.

il . State the range.
iv.  Sketch the graph of the function.
V. Find the equation of the tangent to the curve at the point y= g—

" b)" Por the function y=—1-:

' x+2 _
i. Find the inverse function.
ii.  Find the point(s) of intersection between the function and its -

inverse.

¢) If f(x)=sin"x+cos'x, ~1<x<1:

Jii.". Show that £ (x)=0 forallx,

i, Showthat /(3="forallx.
- d) Find the derivative of y =cos™ +/1-x .
_e) Write down the general solution for sing = 71_2— _

dx
25+9x2°

f) Evaluate .[ R Leave your answer in terms of . .

g) Evaluate, showing working, sin [cos"%+tan‘] (—%ﬂ

END OF TEST ©




L.E(,,_OLTN

p(:333°3~'7:x,—9.
PL-D= (1) -IxC-0 =6
S
- O ‘ R ' }

se  PCD=O S of PLx).

:C:—-A\' sy & Fco‘.ﬁ‘

___,__;_b_._:_’i-——(’ -
+")3¢ "'OJC -jx—é

3
= ;a
R
- =t -
-2 =
—’______—-‘_.'—_‘
""G?'DC.—-G'
—bx-b

e

o

- ’_ PCI} C'-’C'\‘\B (.3& "?‘- ‘,>
= (_:c M}Qx—B}C:’-*Z}
_ . roots ‘are, -, 3 omd _.2 . @
L N 4

&

) 2004 Soif

6

T) ) = o —-“r.x

C- 3) 4—(_—3}
= —~27412
. = —~\S

R e o\héc,r

p(-3)F

-5,

ie

G
@

C-)\—-tt\‘ roo‘\-s o - d bL- og.\,c_\

Kas d-\rak-\-ak-\.d" 3;‘ e (e d)CoA+d§- _.:z.\,
35 '
st = 3 ERCE
. .
7" ',3.' & -.d, = "j—-
d = 6 :
4= -‘:4~.
. . erbots are —Zli \"5_5"2- oL
. S Iy ' : . )
&) Pl = o — 12z , NG
PloY _oo.; ;-\ixd-ﬁ'7‘ er = \‘\':_.‘ o B .
N cj,w_c P(O\>O on~a Pcv\)-‘/;-o,*%c" rect V1=
bohseen O and’ ‘ B
=2 o, _g(x,,) PIREARAVBETS.
’ : ‘C:"a> fCQ babs S
== RG> 12
( : ey = -8
i V- R

o SO (_7- dec_ P\)

.. root s

6:50.

Xovs miser of A8 Cqiven)

. OX b AS C\-m‘c BhiEn bisects & akca‘a".(.‘,.,:,,h
ol cemtrg of Hme clrde

ts 'perP.
*o

Mhe ehord)
L L.oxB =40

Spiemilarly, LOY8 v
a0’ +40
=g

2.0 KRB > oY B

1
i

P ORBY s o C\iﬁ\‘c c\:"‘od‘“\d-\cro\ (opp: c\ﬁa\cs

are S P\c’“c-ﬁ*cw\,} S
®

ABCD

e

LADC = ot

. LABNE 8O- o (P Ls evede .;%uad

o e

L soeps)
T~ eqete smad OxEH
=
L.XO\‘ = \80 ~ AR CQPP L.s C—“\G\ te G\J\Aa
3\1 are s""FP‘)
=\80 —(\80 —-:x-}
= 2%

LADL = L-%OM .

@




R

= Ao

Y P |
A

S _Zoca(ac -

‘»/l—v‘i ——

e Vg g 1, o
R | i

N R P

Al |
L . ~'..7 .

JEAR s An

et 0 o enedbn 0

ABCD

a'\/-fi"&;-

e Cach e 7/‘/"-’{

-y .t

/FRE -«

AL.cn

/EAR : 2 o

.

x

RN

e’

= )m}‘&l/‘ﬁ(- /Cﬂ
= 7

oo




;(a) {(x)= 2Zsin™

i
i

:(iﬁ)

W)
) £y =
¢ y = :%

, , i

‘-::1(: x = '—g‘?;

g(il). ’
E

@653‘.(10"\\‘3. (_25 mar&s)
3?(

~1 43¢ 4y

2
=

Wl

. L
3 &

-R
2

It

U
2
il

&

K-

-

s

W~
v
g
¢

q_xl‘

m .
'WULrL E‘ = 28w ?)(
ra

AN

A& TevAT 3>c
—l =

V3
_-F“(?JTE\).:

(b) 25:? 7

u/.)\r\g pois.
‘6“3“ ed’i (x -373 )
. .3—6ﬁx~2*"' .

Oz 2ax- ~2y x4

= C:u--a)( - 2>C')
T L-2xg - dx
2T 42 =6
a2t O
x= -4t J35
+ -
= -[ i'f

ts. ofF intecs ech on aV{

NETNES 4+f)

| ‘ ((,) Ax) = s n" x-&-cpé'f;

d

S sin! 3¢ = l

bld f—‘“
€ —
e cosT e = ‘r—-*[-xl
N R
- ._L__
{' (’,‘() = \' 22~ . \_zz

Cl'l)

T

4= x- o
P s E-a - @)

Sraawuu ov vuka

©

O

[ 1

-—-...._.

W*hod*

,f. _‘,-\j“>. |

oy pee e
- S otk tos x o

T

rau‘x

[’\L{’ a_—— S\n 7; o
x,_-"stﬂ a. ('
(.a Q)

- & = cos .

..~ Cos
s
)

T
a+g

ﬂ .
X

e ., . - -
. Ry
het B w
a4 B 2 130%-q0°
| - g

. o =t . N a
STl ks e = B

,Cd ) :3 :._cbs.: '.-_J” (.")C '

(l—x)

dy % du
duw dac

S IR

hat o =

dx

A i

T Vew . aVEd
I BV | | .
= -
2 e

:\4\':1

¥

Rl
n o,
in

Q -

d‘;lro'q"‘—';c .
(et

[

I T o
. 6>’ 4. .

B genaral sofipen

6 =T + (—t')“swa '
,"‘YL(L +C l) :L

‘G:) f d)c .
25r‘(7c

o

“,L 3’

Mo e wicresmamy




